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Q1. | (@ |1. A 3x3identity matrix has a total of 3 and Eigen values. Marks 11
a. same b. different CLO1
C. none d. zero
2. Eigen values of a symmetric matrix are all
a. real b. complex
C. zero d. positive
3. All of the following are finite difference methods except for
a. Jacobi’s method b. Newton’s backward difference
method
c. Stirlling formula d. Forward difference method
4. The characteristics polynomial of a 3x3 identity matrix is , if x is the Eigen value of the
3x3 identity matrix.
a. (x-1)3 b. (x+1)3
c. x2-1 d x3+1
5. Two matrixes with the same characteristic polynomial does not need to be similar
a. True b. false
6. Isthe determinant of a diagonal matrix the product of the diagonal elements?
a. true b. false
7. The Jacobi’s method is a method of solving a matrix equation on a matrix that has zeros along
its main diagonal.
a. No b. Atleast one
c. At least two d. At least three
8. The power method can be used only to find the Eigen value of “A” that is largest in absolute value,
we call this Eigen vale the dominant Eigen value of “A”.
a. true b. false
9. Central difference method is the finite difference method.
a. True b. false
10. Iterative algorithms can be more rapid than direct methods.
a. true b. false
11. Af, = fr41 — fr isknown as difference operator.
a. forward b. backward
c. central d. none
Q2. | (a) | Use bisection method to solve the equation x?— 7 = 0, Perform four iterations and show all the necessary | Marks 6
steps. CLO1
Q3. | (8) | Interpolate the value of 0.25 using Newton’s forward difference formula. Show all the necessary steps. | Marks 6
X 0.2 0.3 0.4 0.5 0.6 CLO1
F(x) 0.2304 0.2788 0.3222 0.3617 0.3979
(b) | Use Newton Raphson method to find root of f(x) = x® — 2x + 2 with xo = 0.2 . Perform four iterations. Marks 6
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a. (x-1)3 b. (x+1)?
(& sk d. x*+1
5. Two matrixes with the same characteristic polynomial does not need to be similar
a. true b. false
6. Is the determinant of a diagonal matrix the product of the diagonal elements?
a. true b. false

7. The Jacobi’s method is a method of solving a matrix equation on a matrix that has zero

along its main diagonal.
a. No b. Atleast one

c. Atleast two d. Atleastthree
8. The power method can be used only to find the Eigen value of “A” that is largest in absolut
value, we call this Eigen vale the dominant Eigen value of “A”".

a. true b. false
9. Central difference method is the finite difference method.
a. true b. false
10. Iterative algorithms can be more rapid than direct methods.
a. true b. false
11.Af. = fr41 — Jris known as difference operator.
a. forward b. backward
d. none

c. central
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